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Questions

sin50 + sin30 is equal to:

Question Image

Question Image

Question Image
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2 sin 12° sin 46° =

2cosacosB=

-2sinasinR =

2cosasin 3=

2sinacosB=

Question Image

If sin a = cos B in any triangle ABC then:

Cot1°, Cot2°, Cot3°, .......... Cot89° =

tan (270° + O) is equal:

If an angle a is allied to an angle B, then a + R =

tan (-135°) =

sec (21 + ©), where O is a basic angle will have terminal side in:

csc (21 - ©), where O is a basic angle, will have terminal side in:

Answers Choice

A
B.
C.
D.

A

2cos 20 sin ©

-2 cos 40 sin ©
-2 sin 40 cos ©
2 sin 40 cos ©

cos 34° + cos 58°

B. sin 34° - sin 58°

C. sin 34° + sin 58°

D. cos 34° - cos 58°

A. sin (a + B) - sin (a - B)
B. cos (a + B) - cos (a - B)
C. cos (a + R) + cos (a-B)
D. sin (a + B) + sin (a - B)
A.sin (a + B) + sin (a - B)
B. cos (a + ) + cos (a - B)
C. cos (a + RB) - cos (a-B)
D. cos (a - ) + cos (a- B)
A. cos (a + ) +cos (a-R)
B. sin (a + B) + sin (a - B)
C.sin (a + R) - sin (a - B)
D. <div>cos (a + B) + cos (a - B)
</div>

A. sin (a + B) - sin (a - B)

B. cos (a + ) + cos (a - B)

D.

A
B.
C.
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.sin (a+ B) +sin (a - B)
. cos (a+R)-cos (a-R)

1+ cos ©
1-cos@®

a+R=90°
a+ [ =180°
a+ [} =360°
a+hi

-1
1

o

none

cot ©
tan ©
-cot ©
-tan ©

90°

. multiple of 90°

180°

. multiple of 180°
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